
MATHS

BOOKS - CHETAN MATHS (TAMIL

ENGLISH)

STANDARD IX SYLLABUS

Solved Examples

1. Rewrite the following statement in 'if -then'

form. 'Diagonals of a parallelogram bisect each

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_awxyn8hnaVCR


other'.

Watch Video Solution

2. Write betweenness for the points P,Q and R

if d(P,Q)=3,d(Q,R)=4,d(P,R)=7.

Watch Video Solution

3. M is midpoint of seg PQ. Find PM, if PQ=13

cm.

View Text Solution

https://dl.doubtnut.com/l/_awxyn8hnaVCR
https://dl.doubtnut.com/l/_wZ9JYFp5HjmF
https://dl.doubtnut.com/l/_7UNi8tfi2ScY


4. Co-ordinates of points P and Q are -2 and 2

respectively. Find d(P,Q).

Watch Video Solution

5. IF P-Q-R and if d(P,R)=10, d(Q,R)=3, then find

d(P,Q).

Watch Video Solution

https://dl.doubtnut.com/l/_7UNi8tfi2ScY
https://dl.doubtnut.com/l/_BcNhnp16pDkg
https://dl.doubtnut.com/l/_5yS3eeiAiudg


6. Co-ordinate of point P is 2. Find the co-

ordinate of point Q which is 6 units or right of

point P.

Watch Video Solution

7. Write the following statement in 'if-then'

form. 'Linear pair angles are supplementary'.

Watch Video Solution

https://dl.doubtnut.com/l/_QBcz94TyKZ73
https://dl.doubtnut.com/l/_Enns3Hzj3nF5


8. Write the converse the following .

'If two sides of a traingle are equal, then

angles opposite to them are equal'.

Watch Video Solution

9. IF X-Y-Z and if l(XZ)=  and l(XY)= ,

the find l(YZ). Draw figure.

Watch Video Solution

12√3 3√3

https://dl.doubtnut.com/l/_41hKZIFmgaNG
https://dl.doubtnut.com/l/_b1RRKxuaY3X6


10. Write given and to prove for the following

statement. 

If angles is linear pair are equal, then each of

them is a right angle.

Watch Video Solution

11. Co-ordinate of point A is 7. Find co-

ordinates of points at a distance of 7 units

from point A.

Watch Video Solution

https://dl.doubtnut.com/l/_09dGcwKdEVWO
https://dl.doubtnut.com/l/_4ct2OFWC5htV


12. Write given and to prove for the following

statement.Also draw the diagram. 

'Vertically opposite angles are congruent'.

Watch Video Solution

13.  

Using the valus from the above table, decide

which pair is congruent.

A. Seg DE and Seg DE

https://dl.doubtnut.com/l/_4ct2OFWC5htV
https://dl.doubtnut.com/l/_GWcD68clzQgp
https://dl.doubtnut.com/l/_6yYBbDF05tiF


B. seg BE and seg AD

C. 

D. 

Answer: A::B::D

Watch Video Solution

14. Write given to prove: 

'Diagonals of rectangle are equal'.

Watch Video Solution

https://dl.doubtnut.com/l/_6yYBbDF05tiF
https://dl.doubtnut.com/l/_SVrd2BIfGbOc


15. In  , , , find .

View Text Solution

ΔABC ∠A = 70∘ ∠B = 48∘ ∠C

16. In fig(1), line l  line m. Write a pair of

corresponding angles. 

∣∣

https://dl.doubtnut.com/l/_y4gABspIDOyw
https://dl.doubtnut.com/l/_EWir4AhUjuaA


Watch Video Solution

17.  

Observe fig.(1) and answer the following.

If . Find 

Watch Video Solution

∠c = 110∘ ∠d

https://dl.doubtnut.com/l/_EWir4AhUjuaA
https://dl.doubtnut.com/l/_j7PTxzEjybPU
https://dl.doubtnut.com/l/_h5vvD463tEZG


18.  

Observe fig.(1) and answer the following. 

If . Find 

Watch Video Solution

∠f = 80∘ ∠d

19. Ratio of two complementary angles is 5:4.

Find the measure of each angle.

https://dl.doubtnut.com/l/_h5vvD463tEZG
https://dl.doubtnut.com/l/_4QK8ghHLdKma


View Text Solution

20. Ratio of two supplementary angles is 7:2.

Find measure of each angle.

View Text Solution

21. Two angles forming a linear pair of angles

are equal. Find the measure of each angle.

View Text Solution

https://dl.doubtnut.com/l/_4QK8ghHLdKma
https://dl.doubtnut.com/l/_dy7QxIcgJbXQ
https://dl.doubtnut.com/l/_lNdZSQ9dh8zP
https://dl.doubtnut.com/l/_iixC4seI04XN


22. In fig.(2), line p lineq. . Find .

Watch Video Solution

∣∣ ∠w = 120∘ ∠s

23.  

In fig.(2),  and . Can we∠x = 75∘ ∠s = 105∘

https://dl.doubtnut.com/l/_iixC4seI04XN
https://dl.doubtnut.com/l/_Rwfz38vmcgiz


say line p line q? Justify.

Watch Video Solution

∣∣

24.  


In fig.(2), . What should be measure

of , so that line p  line q.

Watch Video Solution

∠u = 95∘

∠z ∣∣

https://dl.doubtnut.com/l/_Rwfz38vmcgiz
https://dl.doubtnut.com/l/_Qb831y08pRTk


25.  


Observe figure(1) and answer the following . If

. Find each angle.

Watch Video Solution

∠d : ∠e = 2: 3

https://dl.doubtnut.com/l/_Qb831y08pRTk
https://dl.doubtnut.com/l/_IiJVmUE1Lwac


26. IF two lines are intersected by a transversal

then how many pairs of (a) Vertically opposite

angles (b) Corresponding angles ( c ) Alternate

angles are formed?

Watch Video Solution

27. In a figure angle AOB : angle BOC = 2 : 3. If

angle AOC = 75 degree then find the measure

of angle AOB and angle BOC ?

Watch Video Solution

https://dl.doubtnut.com/l/_QVFGtJ5ZL6n0
https://dl.doubtnut.com/l/_YKgKZRppHpJk


28. In Fig., ray OS stand on a line POQ Ray OR

and ray OT are angle bisectors of ∠POS and

∠SOQ respectively. If ∠POS=x, find ∠ROT.

Watch Video Solution

29. Two angles of a triangle are of measures 50

degree and 30degree. Find the measure of the

third angle.

Watch Video Solution

https://dl.doubtnut.com/l/_YKgKZRppHpJk
https://dl.doubtnut.com/l/_J8InhveCyZla
https://dl.doubtnut.com/l/_z4gKGwcjZyiC


30. Measure of supplement of an angle is 3

times the measure of the angle . Find the

measure of the angle.

Watch Video Solution

31. Measure of half of the angle is equal to its

complement . Find the measure of the angle.

Watch Video Solution

https://dl.doubtnut.com/l/_JnAveIFHfnrB
https://dl.doubtnut.com/l/_QNxHsQGG9IU2


32. In ,  and segment QM is

median on hypotenuse PR. If QM=3.3 units, find

l(PR).

Watch Video Solution

ΔPQR ∠Q = 90∘

33. In , LM=5cm, MN=3cm and LN=4cm.

Then find biggest and smallest angles of

.

Watch Video Solution

ΔLMN

ΔLMN

https://dl.doubtnut.com/l/_TQEpAsmB574k
https://dl.doubtnut.com/l/_uzAdklxbNhhY
https://dl.doubtnut.com/l/_CCguhMW1EESH


34. IF , then write ratios of

corresponding sides.

View Text Solution

ΔPQR~ΔXYZ

35. , . Find .

View Text Solution

∠A = 70∘ ∠B = 40∘ ∠ACB

36. In , , , then

write names of longest and the smallest sides.

ΔPQR∠P = 60∘ ∠Q = 95∘

https://dl.doubtnut.com/l/_CCguhMW1EESH
https://dl.doubtnut.com/l/_mCoqDl9Oncao
https://dl.doubtnut.com/l/_BMud81iD30lz


Watch Video Solution

37. . Then complete the

following 

View Text Solution

ΔABC~ΔPQR

= =
AB

PQ

BC

□

□

PR

38. In  and ,

, then by which test 

and  are similar?

Watch Video Solution

ΔXYZ ΔLMN

∠X ≅∠L, ∠Y ≅∠M

ΔXYZ ΔLMN

https://dl.doubtnut.com/l/_BMud81iD30lz
https://dl.doubtnut.com/l/_SqBvWaOAnLS5
https://dl.doubtnut.com/l/_mYBjVkbOTkjo


39. , write ratios of

corresponding sides.

View Text Solution

ΔABC~ΔPQR

40. In

.

Write lengths of sides opposite  and 

with respect to AC.

Watch Video Solution

ΔABC, ∠A = 30∘ , ∠B = 90∘ , ∠C = 60∘

30∘ 60∘

https://dl.doubtnut.com/l/_mYBjVkbOTkjo
https://dl.doubtnut.com/l/_cQRjnxMGfwVm
https://dl.doubtnut.com/l/_0BjquaxKoOJt


41. 3 angles to traingle are . Find

measures of each angle.

View Text Solution

x ∘ , 3x ∘ , 5x ∘

42. In , , .

Find . (Give reasons)

Watch Video Solution

ΔPQR ∠Q = 55∘ ∠PRT = 120∘

∠P

https://dl.doubtnut.com/l/_0BjquaxKoOJt
https://dl.doubtnut.com/l/_QKvmYu01gwNW
https://dl.doubtnut.com/l/_CJ6wrxD97AaS


43. . , .

Find .

View Text Solution

ΔPQR~ΔXYZ ∠P = 60∘ ∠Q = 40∘

∠Z

44. , AB=8 , BC=10, AC=9, PQ=12.

Find PR and QR.

View Text Solution

ΔABC~ΔPQR

https://dl.doubtnut.com/l/_VhSbWNFaniUH
https://dl.doubtnut.com/l/_3kYW6ncG73XC


45. In , , ,

, AC=18. Then find AB and BC.

Watch Video Solution

ΔABC ∠A = 30∘ ∠B = 90∘

∠C = 60∘

46. Ratio of 3 angles of a traingle are 3:4:5.

Find each angle.

View Text Solution

https://dl.doubtnut.com/l/_SXCbF4yzbZic
https://dl.doubtnut.com/l/_2b8pvZXPqMvI


47. In quadrilateral ABCD, AB=AD, AC bisects

. Prove . 


Watch Video Solution

∠A ΔABC~ADC

48. Prove that equilateral traingle is

equiangular.

Watch Video Solution

https://dl.doubtnut.com/l/_ENFvRIe1ZEe4
https://dl.doubtnut.com/l/_VS0oe6aZdG5l


49. Show that in right angled traingle, the

hypotenuse in the longest side.

Watch Video Solution

50. Find diagonal of square with side 8 cm.

View Text Solution

51. In rectangle PQRS, PR=6cm , then find QS.

Watch Video Solution

https://dl.doubtnut.com/l/_ZJLv5gRuRe0w
https://dl.doubtnut.com/l/_5b3veHaRjgjP
https://dl.doubtnut.com/l/_S43L9S4Eb8H3


52. In parallelogram ABCD, if , find 

.

View Text Solution

∠A = 75∘

∠B

53. In fig if AB∥CD,∠APQ=40 degree
 and

∠PRD=118 degree
find x and y.

Watch Video Solution

https://dl.doubtnut.com/l/_S43L9S4Eb8H3
https://dl.doubtnut.com/l/_M2c1uZ5Sv3c1
https://dl.doubtnut.com/l/_fzf4lFwztnHx


54. Diagonals of Rhombus MNPQ intersect at

point T, find .

Watch Video Solution

∠MTN

55. Write all types of quadrilaterals.

View Text Solution

56. One side of a square is 5.5 cm. What is its

two perimeter?

https://dl.doubtnut.com/l/_NnNn0sgWYMNp
https://dl.doubtnut.com/l/_KkGDQObfE13C
https://dl.doubtnut.com/l/_99CFOUkzxCMm


View Text Solution

57. Segment joining mid points of any two

sides is ……..of third side and ……….. To third side.

Watch Video Solution

58. Draw a trapezium . Write names of its

parallel sides.

View Text Solution

https://dl.doubtnut.com/l/_99CFOUkzxCMm
https://dl.doubtnut.com/l/_f5rxi4d0RY7V
https://dl.doubtnut.com/l/_og9J9mcPpVCI
https://dl.doubtnut.com/l/_SG36LRnTpghS


59. Diagonal of a square is  cm. Find its

side.

View Text Solution

10√2

60. Diagonal of which type of quadrilaterals

are congruent?

Watch Video Solution

https://dl.doubtnut.com/l/_SG36LRnTpghS
https://dl.doubtnut.com/l/_EqwA4kZXN0I2


61. Adjacent sides of rectangles are 9cm and

40 cm . Find diagonal.

View Text Solution

62. Diagonal of square is cm. Find its side

and perimeter.

View Text Solution

2√2

https://dl.doubtnut.com/l/_UsUmup0iuE3N
https://dl.doubtnut.com/l/_X1sRdHoUL1JV


63. Diagonal of rhombus are 12 cm and 16cm.

Find its side.

View Text Solution

64. In parallelogram ABCD, .

Find 

View Text Solution

∠A : ∠B = 1: 2

∠C, ∠D

https://dl.doubtnut.com/l/_Ee6vrdeDb6EY
https://dl.doubtnut.com/l/_oYKSI8TR1zdk


65. Opposite angles of rhoumbus are  and 

. Find x.

View Text Solution

3x ∘

(4x − 15) ∘

66. Diagonal of a square is 13cm. Find its side.

View Text Solution

67. Diagonal of a rectangle ABCD intersect at

point P, . Then find .∠BPC = 50∘ ∠PAD

https://dl.doubtnut.com/l/_IkbdZwEph788
https://dl.doubtnut.com/l/_7cwDnVOnLGiJ
https://dl.doubtnut.com/l/_ik8mKAwPC9EW


Watch Video Solution

68. Find perimeter of Rhombus with

side=14cm.

View Text Solution

69. Ratio of adjacent angles of a parallelogram

is 2:3. Find its angles.

View Text Solution

https://dl.doubtnut.com/l/_ik8mKAwPC9EW
https://dl.doubtnut.com/l/_PrmOaIvuK0RP
https://dl.doubtnut.com/l/_HZb8weYk8fr9
https://dl.doubtnut.com/l/_LBqzrfWWC0MP


70. Find perimeter of square whose diagonal is

.

View Text Solution

12√2

71. If radius of a circle is 4.3 cm , then find

length of longest chord.

Watch Video Solution

https://dl.doubtnut.com/l/_LBqzrfWWC0MP
https://dl.doubtnut.com/l/_Odv9T3z5dC03


72. If circumcentre of a traingle is outside the

traingle, then what is the type of traingle?

Watch Video Solution

73. A circle passes through 3 vertices of a

traingle. What is the centre of the circle

called?

Watch Video Solution

https://dl.doubtnut.com/l/_QG8v2QFmlE38
https://dl.doubtnut.com/l/_22wggCnXXOGL


74. Radius of a circle is 3.05 cm, then diameter

=? Cm

Watch Video Solution

75. O is the centre PM=4.05 cm Find chord PQ 

Watch Video Solution

https://dl.doubtnut.com/l/_MvuMPYpgzCB0
https://dl.doubtnut.com/l/_ShuPELCBDxLh


76. Two circles with and 

 touch externally. What is the

distance between their centres?

Watch Video Solution

r1 = 6.3cm

r2 = 3.7cm

77. What is ratio of circumcircle radius and

radius of incircle of equilateral traingle?

Watch Video Solution

https://dl.doubtnut.com/l/_gOXirqMi4tOx
https://dl.doubtnut.com/l/_NB0mpZPOM8ob


78. Name the circle which passes through

three vertices of a triangle.

Watch Video Solution

79. What is incircle of a traingle?

Watch Video Solution

80. Circles with different radii but same centre

are called………………..

https://dl.doubtnut.com/l/_mGiLbXHaljV8
https://dl.doubtnut.com/l/_jeWv0zx8tkyu
https://dl.doubtnut.com/l/_wqefv5onVlLP


Watch Video Solution

81. OM AB, centre is O, radius =10 cm,

OM=8cm. Find chord AB. 

Watch Video Solution

⊥

82. Find radius of circle with chord AB=12cm.

Distance between chord and centre=8cm.

Watch Video Solution

https://dl.doubtnut.com/l/_wqefv5onVlLP
https://dl.doubtnut.com/l/_emkST6mJRH2q
https://dl.doubtnut.com/l/_20hKjNWJwrN1


83. Draw circle with diameter 8cm.

Watch Video Solution

84. Distance of chord PQ from centre of a

circle is 11 cm, PQ=120cm. Find diameter of

circle.

Watch Video Solution

https://dl.doubtnut.com/l/_20hKjNWJwrN1
https://dl.doubtnut.com/l/_6HqaM4kNsOlE
https://dl.doubtnut.com/l/_TNdY4uWGZ1zj


85. From figure, name the following (centre P). 

(i) Chord 

(ii) Diameter 

(ii) Radius 

(iv) Centre angle

Watch Video Solution

86. Find area of circle whose diameter is 14 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_JZO9CtIwEORh
https://dl.doubtnut.com/l/_qxhNTaR6thwD
https://dl.doubtnut.com/l/_noVzXExBh9vC


87. Prove that if chords of congruent circles

subtend equal angles at their centres then

chords are equal.

Watch Video Solution

88. Chord of circle =24cms. It is at a distance of

5cm from centre . Find radius

Watch Video Solution

https://dl.doubtnut.com/l/_noVzXExBh9vC
https://dl.doubtnut.com/l/_VScD2Wo12DlB


89. Draw circumcircle of an equilateral traingle.

Watch Video Solution

90. Chord=30 cm. distance of chord from

centre=8cm. Find radius of circle.

Watch Video Solution

91. Points A(-6,2) and B(0,-3) are in which

Quadrant axis?/

https://dl.doubtnut.com/l/_tVPjF00chm2V
https://dl.doubtnut.com/l/_KEILoQrb4TzC
https://dl.doubtnut.com/l/_ORKJjugTZObG


Watch Video Solution

92. (a) x=3 (b) y-4=0, which equation is parallel

to X-axis?

Watch Video Solution

93. Points with (i) both co-ordinates positive

and (ii) both negative co-ordinates are in

which quadrants?

Watch Video Solution

https://dl.doubtnut.com/l/_ORKJjugTZObG
https://dl.doubtnut.com/l/_kmVUKD5ByzSr
https://dl.doubtnut.com/l/_I4eoCIF901Dm


94. Write equation of line PQ parallel to X-axis.

Watch Video Solution

95. Write equation of line MN parallel to Y-axis

and 6 units left of Y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_I4eoCIF901Dm
https://dl.doubtnut.com/l/_7WUGV8H45PUj
https://dl.doubtnut.com/l/_d8kVWCmFyT1i


96. What are X co-ordinates of each point on Y-

axis?

Watch Video Solution

97. What are co-ordinates of origin?

Watch Video Solution

98. What is distance between X-axis and line y=

(-5)?

https://dl.doubtnut.com/l/_2tgg79BKc64Y
https://dl.doubtnut.com/l/_veOOXjgMtObH
https://dl.doubtnut.com/l/_FUEhTTXHIMZF


Watch Video Solution

99. If a point on Y-axis, then what is its x co-

ordinate?

Watch Video Solution

100. How many lines are there which are

parallel to the Y-axis and having distance 5

units?

Watch Video Solution

https://dl.doubtnut.com/l/_FUEhTTXHIMZF
https://dl.doubtnut.com/l/_WEDzWuDTrCaZ
https://dl.doubtnut.com/l/_mv9qBWWPzqi4


101. Find distance between X-axis and line y=-4.

Watch Video Solution

102. A(-5,-3) and B(6,-8) are in which quadrants?

Watch Video Solution

103. Point M(-3,-2) is on line parallel to Y-axis

and line x=4 is parallel to Y-axis.

https://dl.doubtnut.com/l/_mv9qBWWPzqi4
https://dl.doubtnut.com/l/_WR6Kqdf90cgh
https://dl.doubtnut.com/l/_Up0085SJNDSi
https://dl.doubtnut.com/l/_g9IAslSV0uoi


View Text Solution

104. What is the distance between Y-axis and

line x=4 is parallel to Y-axis.

Watch Video Solution

105. In which quadrants or axes are following

points? 

(i) (4,-7) (ii) (-6,-9) (iii) (-4,0) (iv) (0,-8)

Watch Video Solution

https://dl.doubtnut.com/l/_g9IAslSV0uoi
https://dl.doubtnut.com/l/_ECuyWhGlZ0Z9
https://dl.doubtnut.com/l/_WX9XtJR9lnJ9


106. Which graphs of following equations are

parallel to Y-axis? 

(i) x=4 (ii) y-3=0 (iii) x+8=0 (iv) y=(-9)

Watch Video Solution

107. Write equation of line parallel to Y-axis

and on its right side at distance of 6 units.

Watch Video Solution

https://dl.doubtnut.com/l/_wxDMbrvugcu5
https://dl.doubtnut.com/l/_UE6jbgpW30Jd


108. How many lines are there which are

parallel to X-axis and having distance of 5

units?

Watch Video Solution

109. Which of equation given below has graph

parallel to X-axis and which one have graph

parallel to Y-axis? 

(i) x=5 (ii) y-3=0 (iii) x+8=0 (iv)=y=(-10)

Watch Video Solution

https://dl.doubtnut.com/l/_j3wONM9U2PUG
https://dl.doubtnut.com/l/_CoUIFDGKizEZ


110. What are names of horizontal and vertical

lines drawn to determine the position of any

point in plane?

Watch Video Solution

111. Find value 8

Watch Video Solution

sin 30∘ + 4cos 60∘

https://dl.doubtnut.com/l/_CoUIFDGKizEZ
https://dl.doubtnut.com/l/_AyfgwzxYbFl3
https://dl.doubtnut.com/l/_ApPhrcl1MRwx


112. If , then tan(90- )=?

Watch Video Solution

tan θ = 1 θ

113. Fill in the blanks 

Watch Video Solution

sin 30 + cos………. . = 1

114. (i) If cosec A= sec 34 degree, then find A
(ii)

If tan B= cot 47 degree, then find B

https://dl.doubtnut.com/l/_mNK1QwuGF0UV
https://dl.doubtnut.com/l/_eASABo1WQx4k
https://dl.doubtnut.com/l/_mO0MlpS0xYpW


Watch Video Solution

115. If , then =?

Watch Video Solution

sin θ =
3

5
cos θ

116. Find the value of tan 7 degree tan 23

degree tan 60 degree tan 67 degree tan 83

degree.

Watch Video Solution

https://dl.doubtnut.com/l/_mO0MlpS0xYpW
https://dl.doubtnut.com/l/_gbQPqNazQS0A
https://dl.doubtnut.com/l/_e5tLWFQSIMg5
https://dl.doubtnut.com/l/_L08Hzg3o6KmX


117. IF , then =?

Watch Video Solution

sin θ =
√3

2
cos θ

118. 

Watch Video Solution

sin2 50∘ + cos2 50∘ = ?

119.  





tan θ = ?

tan(90 − θ) = ?

https://dl.doubtnut.com/l/_L08Hzg3o6KmX
https://dl.doubtnut.com/l/_BPqUUrhWvaIX
https://dl.doubtnut.com/l/_8TuB2wf7IEKp


Watch Video Solution

120. sin 30  cos…………………=1

Watch Video Solution

×

121. If sin  , then find cos 

Watch Video Solution

θ =
5

13
θ

https://dl.doubtnut.com/l/_8TuB2wf7IEKp
https://dl.doubtnut.com/l/_miGRFSBCwwDI
https://dl.doubtnut.com/l/_28BQ7bqiUkW8


122. Find the value of

.

Watch Video Solution

sin2 30 + cos2 60 + tan2 45

123. If sin(θ+α)=cos(θ+α), then Prove that tanθ

= 1+tanα / 1−tanα
​

Watch Video Solution

https://dl.doubtnut.com/l/_tgYDbNJGu3Df
https://dl.doubtnut.com/l/_gsnawGC6YdjG


124. Fill in the blanks 

(i) 


(ii) 

Watch Video Solution

tan30∘ × tan □ = 1

cos 45∘ = sin □

125. Find the value of

Watch Video Solution

cos 60∘ × cos 30∘ + sin60∘ × sin30∘

https://dl.doubtnut.com/l/_g1MihcnIbVYI
https://dl.doubtnut.com/l/_SGbeU6nClme4


126. Write following ratios. 

(i)  (ii)  


Watch Video Solution

tan50∘ cos 40∘

127. If , then 

Watch Video Solution

sin θ =
15

17
cos θ = ?

128. = ?
cos 62∘

sin 28∘

https://dl.doubtnut.com/l/_mfm4EqyRS3Lv
https://dl.doubtnut.com/l/_SnUQ6qkow30F
https://dl.doubtnut.com/l/_cN8rDmtprUSu


Watch Video Solution

129. If , then find 5

=?

Watch Video Solution

tan θ =
12

5
sin θ − 12cos θ

130. In right angled

. , find

 and .

Watch Video Solution

ΔABC, ∠B = 90∘ , ∠C = θ cos θ =
24
25

sin θ tan θ

https://dl.doubtnut.com/l/_cN8rDmtprUSu
https://dl.doubtnut.com/l/_wJNcljKKeBI0
https://dl.doubtnut.com/l/_a2n6MRbjIoL0


131. Side of a cube is 4cm. Find ratio of its total

surface area and vertical surface area.

Watch Video Solution

132. Volume of a cube is 1000 . Find its

side.

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_a2n6MRbjIoL0
https://dl.doubtnut.com/l/_4HRWnPGUyRSy
https://dl.doubtnut.com/l/_65jUFz5FK3Eg


133. Find volume of a cuboid of 

cm.

Watch Video Solution

30 × 18 × 10

134. Radius of sphere is 7 units . What is its

volume?

Watch Video Solution

https://dl.doubtnut.com/l/_u9Am5a3BPNsP
https://dl.doubtnut.com/l/_0aS9wt0p3X7a


135. Write formula for total surface area and

volume of a solid hemisphere.

Watch Video Solution

136. Find radius of a cone with slant height 13

cm and perpendicular height 12 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_p7jGpXOw1Qje
https://dl.doubtnut.com/l/_IJfGedFqJ5hG


137. Find the surface area of a sphere if radius

is 9cm.

Watch Video Solution

138. If radius is 'r' and height is 'h', then what is

curved surface area of cylinder?

Watch Video Solution

https://dl.doubtnut.com/l/_MRIrBMKgve24
https://dl.doubtnut.com/l/_kUmKEqYoA9PA


139. What is volume of sphere whose radius is

4cm?

Watch Video Solution

(π = 3.14)

140. IF perpendicular height of cone is 8cm

and radius 15 cm, then find its slant height.

Watch Video Solution

https://dl.doubtnut.com/l/_jubowdaeub0w
https://dl.doubtnut.com/l/_DAGeIsdrGozf


141. Find the total surface area of a cube

whose volume is 1000 .

Watch Video Solution

cm3

142. Volume of a cone is 6280 cubic cm. Find its

perpendicular height if its radius is 20 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_ztOjnHXL4NjH
https://dl.doubtnut.com/l/_bD9mEUXF4Zii


143. Volume of a cuboid is 300 . Find its

length if its breadth is 6 cm and height is 5 cm.

Watch Video Solution

cm3

144. Volume of a cube and a cuboid are equal.

Find the height of cuboid if its length 12 cm

and breadth 3cm. Also, side of the cube is 6cm.

Watch Video Solution

https://dl.doubtnut.com/l/_iryQcda2WIVD
https://dl.doubtnut.com/l/_lADsxJZnXf30


145. For a sphere surface area is 154 sq.cm.

Find its volume.

Watch Video Solution

146. Volume of a hemisphere is 18000 .

Find its diameter

Watch Video Solution

πcm3

https://dl.doubtnut.com/l/_47SqW3IITX3e
https://dl.doubtnut.com/l/_5mnZtCNcBfCC


147. The total surface area of a cube is 5400

sq.cm. Find its vertical surface area.

Watch Video Solution

148. Ratio of length, breadth and height are in

the ratio 5:2:1. Its volume is 1250 . Find its

dimensions.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_EMgoApKYDLde
https://dl.doubtnut.com/l/_nDotInOfWgLz


Problems For Practice

149. Area of base of a cylinder is 100 . Its

height is 5cm. Find its volume.

Watch Video Solution

cm2

150. A cylinder with base radius 7 cm has ,

curved surface as 110 .Find its volume

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_GP3Bk72Wx9Ot
https://dl.doubtnut.com/l/_M5sFGtYoB6bK
https://dl.doubtnut.com/l/_St9hgpeBBEj7


1. Draw segment PQ=4.3cm and bisect it.

Watch Video Solution

2. Draw equilateral side of 3.8 cm.

Watch Video Solution

3. Draw Right angled traingle with base 3.2 cm

and height 4.3cm.

Watch Video Solution

https://dl.doubtnut.com/l/_St9hgpeBBEj7
https://dl.doubtnut.com/l/_T7tRymKcUsVA
https://dl.doubtnut.com/l/_F9wt5ihPZm3H


4. Bisect 

Watch Video Solution

∠ABC = 130∘

5. Draw AB BC.

Watch Video Solution

⊥

6. Draw seg JK=8.4 cm and draw its

perpendicular bisector.

https://dl.doubtnut.com/l/_F9wt5ihPZm3H
https://dl.doubtnut.com/l/_r2QQUTUoBJmj
https://dl.doubtnut.com/l/_ByXIwjcsalnz
https://dl.doubtnut.com/l/_B416byE2o9jM


Watch Video Solution

7. Draw , with RS=5cm, ST=9cm, RT=7cm.

Watch Video Solution

ΔRST

8. Draw  with NP=6cm, 

.

Watch Video Solution

ΔMNP

∠N = ∠P = 70∘

https://dl.doubtnut.com/l/_B416byE2o9jM
https://dl.doubtnut.com/l/_ED5YFm6L7zxe
https://dl.doubtnut.com/l/_8MdNwXwXtKB4


9. Draw 

Watch Video Solution

∠130∘

10. Draw a scalene .

Watch Video Solution

ΔRST

11. Draw , AB=3cm, BC=4cm, AC=5cm,

measure .

Watch Video Solution

ΔABC

∠B

https://dl.doubtnut.com/l/_0Qral4ZhQz3L
https://dl.doubtnut.com/l/_uqAjhgWrdvKe
https://dl.doubtnut.com/l/_QChUsrAi2kNn


12. Draw . Ratios of sides 2:3:4.

Watch Video Solution

ΔPQR

13. Draw equilateral traingle with side =4cm.

Watch Video Solution

14. Draw right angled traingle  with 

 and seg AB=5.5 cm.

ΔABC

∠A = 40∘

https://dl.doubtnut.com/l/_QChUsrAi2kNn
https://dl.doubtnut.com/l/_Lg9KpEE8mobg
https://dl.doubtnut.com/l/_CjBzGWgJ8kCf
https://dl.doubtnut.com/l/_Nk9InU20ydI3


Watch Video Solution

15. Draw , NP=7cm, .

Watch Video Solution

ΔMNP ∠N = ∠P

16. Draw ,QR=6.0 cm,

.

Watch Video Solution

ΔPQR

∠Q = ∠R, ∠P = 80∘

https://dl.doubtnut.com/l/_Nk9InU20ydI3
https://dl.doubtnut.com/l/_ySrzkyu58onD
https://dl.doubtnut.com/l/_VEGWgVOXEqhw


17. Draw right angled , ,

draw perpendicular bisector of MP and angle

bisector of .

Watch Video Solution

ΔMNP ∠N = 90∘

∠N

18. Draw scalene traingle and draw angle

bisectors.

Watch Video Solution

https://dl.doubtnut.com/l/_j4FdITsGqr2Z
https://dl.doubtnut.com/l/_Re2hJgftyJ2V


19. Draw , , , side

MN=6cm.

Watch Video Solution

ΔMNP ∠M = 50∘ ∠N = 70∘

20. Draw , AB=AC=4cm, BC=6cm

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_rYgfTJ74MPYb
https://dl.doubtnut.com/l/_FlXejMnkJxvi

